Year 11 Mathematics Advanced: Solving quadratic equations by factotisatioma Tutoring
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In this worksheet you will learn how to factorise quadratic equations to find their
solutions efficiently.

Easy Questions
1. Solve x? + 5z + 6 = 0 by factorising.
2. Solve 2* — 3x — 10 = 0 by factorising.
Solve 2 + 62 + 9 = 0 by factorising.

Solve #? — 4 = 0 by factorising.

AN

Solve 22 4 Tz + 3 = 0 by factorising.

Intermediate Questions

Solve 22 4 8z + 15 = 0 by factorising.
Solve 32% 4 11z 4+ 6 = 0 by factorising.

Solve 222 — 52 — 3 = 0 by factorising.

© o N o

Solve 42 + 122 + 9 = 0 by factorising.
10. Solve 52% + 13x + 6 = 0 by factorising.
11. Solve 22* + ¥ — 6 = 0 by factorising.

12. Solve 62° — 2 — 2 = 0 by factorising.

13. Solve 32* — 2x — 8 = 0 by factorising.
14. Solve 42* — 4x — 15 = 0 by factorising.
15. Solve 5% — 20z + 15 = 0 by factorising.
16. Solve 62 4+ 52 — 6 = 0 by factorising.
17. Solve 82% — 10z — 3 = 0 by factorising.
18. Solve 10x? 4 7z — 12 = 0 by factorising.
19. Solve 92% — 30z + 25 = 0 by factorising.
20. Solve 222 — 32z — 2 = 0 by factorising.
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Hard Questions

21. Solve 6% + 13z — 5 = 0 by factorising.
22. Solve 42 + 11z + 6 = 0 by factorising.
23. Solve 3z — 14z + 8 = 0 by factorising.
24. Solve 522 + 22 — 3 = 0 by factorising.
25. Solve 622 — x — 15 = 0 by factorising.
26. Solve 81 + z — 3 = 0 by factorising.
27. Solve 7z + 52 — 2 = 0 by factorising.
28. Solve 922 — 22 — 8 = 0 by factorising.
29. Solve 10z% — 72 — 12 = 0 by factorising.

30. Solve 1222 + 5 — 7 = 0 by factorising.
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